: ABC culiall oy -2

3,5cm

A 6 cm B
Aus agljl ails :ABC dliall aquh

: 3 cm laclasbg O ojSyo il 8ylall o) -3

: 9@ (cm) u 6plall jho
d=3x2=6cm

:g® (cm) u 6plal o
P=dxn=6x3,14=18,84cm

: alwo -4

: g0 wglll agyanll gl Jgh
C=157+4=39,25m
10 (cm) u wgll agyaall aalwo
S=CxC=39,25x 39,25 = 1 540,5625 m?

00 (m) U awlill adyaall jns Jgh yolid
d=p+n=157+3,14=50 m

w10 (M) u ailll aganll glasbh yols

R=50+2=25m
w10 (M?) u alll agyaall aalwo
S=RxRxn=25x25x3,14=1962,5m?2

10U aalwo pSTl o JSuidl ailall agyanll

1962,5m? > 1 540,5625m?

2018 akup

wlaa_allg alachl

scunlioll jogl Jloiwl baclni Lij agll alachl wiji -1

5<6< 11<193<2002<212 <2,202
7 7 10 ) ) ) )

: jail 9 g.ni -2
: gaall -
623,5 + 49,45 = 672,95
: ahll -
672,95 - 298,4 = 374,55
ol -
495 x 3,6 =1782
: aouwdll-
2446 - 2,5=978,4
Jjial 9 cunal -3
2 1 4 3 7
3727676 &6
3 1 9 4 5
4 3 12 12 12
7 5 35
6 12" 72 :
: dllwwo -4

:g® 00)all ansd 16 (ai
16 x 22,25 = 356 dh
:90 00)2)l alew go dlo
426 - 356 =70dh
: g@ 2algll jisall oi
70+ 14=5dh

a_wa i ol

. 45° lawlé AOB aglj owi -1
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: ayglhall 62ag)l il Jgal -3

108,9 dam 115,25 dm =1 100,525 m
11,42t 48,8 kg = 114,688 q
7 ha 7,5 a=807,5 dam? 3,5 dal
526 dam® 526 dam® 16 dl =562,6 |
:aluwo -2
1o (M?) u 6acla)l aalwo
Sbh=5x5=25m?
: (m?) Wl <lall p22 Jigai
7 4251 =7,425m®
:90 (M) v gl 16 clall glaj)l
h=V+Sb=7,425+25=0,297 m
199 (M) u gnll claj)l
h=0,297 x3=0,891Tm
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